?ﬁ?ﬁ&'gémﬁgﬂ 88'&?'/55'%’?.5 THIS DRAWING IS THE SOLE PROPERTY OF Rev) EOR Doscfiption D e PP
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE A 1038 e 120081 008 s 2/23/15\BLS
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED 120031-002 Added Item 15,
Revised Patent Numbers, Removed
Part #120140-012 From Drawing,
Removed Item 8, 708992-101, Removed
Item 10, 708992-103, Item 9, Qty 7 was
Qty 3, Added item 16, , App Code and
~ 7.63 Ref - notes
B 1096 |item 16, 912002-020 was 912002-012 1/12/16 [BLS
Revised note 2
C 2014 [ttem 1, 120020-002 was 120020-007, 1/12/16 |BLS
I Removed Patent Numbers From Front of
Screen
AUTO/MANUAL ALARM TURN OVERLAP POWER
i ] @
lm\ A A
(A) k) (&) (B L)
NOZZLE
SETUP
)
SYSTEM
& 5.50 Ref
—
| o%AE (XJ ( /J 16] 912002-020 |Application Code 2.20 1
L o 15| 709031-803 |Screw 10-24 x .5 Phillips, PH 4
14| 120140-009 |Screwlock, 4-40 M/F, Hex 4
L1203 (4 EWWWAQASRSTAN 13| 709031-203 [Screw, 6-19 x 5/8, Tapping | 2
. . % Serial # 12| 708992-203 |Insert,10-24,Threaded,Brasy 4
PinPoin PPO000 11| 708992-202 |Insert,4-40,Threaded,Brass | 5
—_—
10
! 9| 708992-102 |Screw, 4-40 x 3/8, PHM,SS | 7
8
7| 120040-001 |SD Card, 4G 1
6 | 120031-003 |CapView-C3 Control Board | 1
5 | 120025-001 |Keypad, Pinpoint 1
4 | 120023-001 |CapView Case, Front 1
3 | 120022-001 |[CapView Case, Rear 1
2 | 120021-001 |CapView Rubber Band 1
1 120020-002 |Optrex, 3.5" LCD High Temp 1
Item| Part Number Description Qty
Notes: PSTAN CAPSTAN AG SYSTEMS, INC.
5 Ag Systems, Inc. 4225 S.W. Kirklawn Ave., Topeka, KS 66609
1. Boot Code: Boot.hex. Name Dats __| TITLE:
.. = |RDC [2/16/10 ) .
2. Application Code: Ag, 2.20.txt. p—— C Display, CapView, PP
QA APP
SIZE DWG No: REV
B 120010-001 C




	Sheet1

